Similar Polygons
and
Similar Triangles

You will use the definition of similarity to
decide if two triangles are similar.
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You will identify similar triangles using
the AA Similarity Postulate, SSS and
SAS Similarity Theorems

You will use similar triangle theorems to
solve problems.
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Determine if the triangles are similar. If so, write the similarity
statement and scale factor. If not, explain your reasoning.
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Determine if the triangles are similar. If so, write the similarity
statement and scale factor. If not, explain your reasoning.
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Angle-Angle (AA) Similarity
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Side-Side-Side (SSS) Similarity
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Side-Angle-Side (SAS) Similarity
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Determine whether the triangles are similar. If so, write a
similarity statement. Explain your reasoning.
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Determine whether the triangles are similar. If so, write a
similarity statement. Explain your reasoning. AR 2
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Determine whether the triangles are similar. If so, write a
similarity statement. Explain your reasoning.
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Determine whether the triangles are similar. If so, write a
similarity statement. Explain your reasoning.
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ALGEBRA Given RS||UT,RS=4,RQ=x+3,
QT = 2x + 10, UT = 10, find RQ and QT.
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Josh wanted to measure the height of the Sears Tower in
Chicago. He used a 12-foot light pole and measured it's
shadow at 1 p.m. The length of the shadow was 2 feet.
Then he measured the length of Sears Tower's shadow
and it was 242 feet at the same ti hat is the height
of the Sears Tower? \
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